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BR/N_FEZT, T—RICHEZT v b GEE) SERLDHD,
%Ymatplotlib inline
import numpy as np
import matplotlib. pyplot as plt
from scipy.optimize import curve_fit
HEA % -
def f(x, a0, al, a2):

return a0 + alsx + a2xx**2
tr—amERLza—F
xdata = np. array([1, 2,3, 4])
ydata = np. array([1,3,4,610])
plt. plot(xdata, ydata, "o, color="r")

tr—42mZmR/IN_FEZTHELUERLI-O—F
params, cov = curve_fit(f, xdata, ydata)
print (params)

1t & &

X =np. linspace (0, 4, 20)

y = f(x, params[0], params[1], params[2])
plt. plot(x,y, color="b")

plt. grid()
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%matplot!lib notebook

from mpl_toolkits.mplot3d import Axes3D
import matplotlib.pyplot as plt

import numpy as np

from sympy import *

a0, al, a2 = symbols(' a0, al, a2")
def func(x):
return a0+alsx+a2xx*x*2

def z_surf(xx,yy):
sum = 0
for i in range(0,4):
tmp = xx[i]l - yylil
sum = sum + tmpxtmp
return sum

x1 = np. array([1, 2,3, 4])
yl = np. array([1,3,4,10])
eq = z_surf (func(x1),y1)

print (eq)
print (expand (eq))

(a0 + al + a2 - 1)*x2 + (a0 + 2%al + 4xa2 - 3)*x2 + (a0 + 3*al + 9xa2 - 4)*x2 + (a0
+ dxal + 16%a2 - 10) **2

4+a0*x*x2 + 20*a0xal + 60*%a0*a2 - 36*a0 + 30*xal*xx2 + 200*%al*a2 - 118*al + 3b4*a2**?2 -
418%a2 + 126

%matplotlib notebook
def f(a0, al):
return 4xa0*x2 + 20xa0xal + 60*alOxa2 — 36xa0 + 30*al*x*2 + 200%alxa2 - 118+al

a0 = np. arange (-20, 20, 5)
al np. arange (-20, 20, 5)

A0, A1, = np.meshgrid(a0, al)
Z1 = (A0, A1)



fig = plt. figure()
ax = fig. add_subplot (111, projection="3d")
ax. plot_wireframe (A0, A1, Z1)

plt. show()

%?; PR
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1150000
100000
150000

#IEF A 52X (Normal Equations) Z AULN=A%
import numpy as np

from pprint import pprint

import scipy.linalg as linalg

xdata=np. array ([1, 2, 3, 4])
ydata=np. array ([1, 3, 4, 10])

def ff(x, i):
return xkxij

Av = np. zeros ([4, 3])
for i in range(0,3):
for j in range(0,4):
Av[jl[i]=Ff (xdatalj], i)

pprint (Av)

Ai = linalg. inv(np. dot (np. transpose (Av), Av))
b = np. dot (np. transpose (Av), ydata)
np. dot (Ai, b)

array ([[
[
[
[
[

array (

1

1
1.,
1.,
2.

AW =
o © =

.
5, -2.2,

D)

]
]
]
]
. D

—



HEEENHR (Singular Value Decomposition) Z L =A%
import numpy as np

from pprint import pprint

import scipy. linalg as linalg

xdata=np. array ([1, 2, 3, 4])
ydata=np. array ([1, 3, 4,10])

def f(x, a0, al, a2):

return a0+al*x+a0*x*x*2
ftdef ff(x, i):

#return xkxi

Av = np. zeros ([4, 3])

for i in range(0,3):
for j in range(0,4): - Chj2
Av[j1[i]1=ff (xdatal]j], i) (\]wmm\(:
m, n = Av. shape _
pprint (Av) C/)“E-Q
< i -
U s, Vs = linalg. svd(Av) - © °‘é . " -
Foor THETET ~ = 2% )AL
Y e
S = linalg. diagsvd (s, m, n) )\\a%. ’
pprint (S) L _—
iS = np. zeros([3,4]) 1>

for i in range(0,3):
iS[illi]l = 1.0/s[i]
print (iS)
left = np. dot (np. transpose (Vs), iS)
right= np. dot (np. transpose (U), ydata)

np. dot (left, right)
#print (right)

array([[ 1., 1., 1.1,
[1., 2., 4.1,
1., 3., 9.1,
[1., 4., 16.1])
array ([19.62136402, 1.71206987, 0.26625288])
array ([[19. 62136402, 0. , 0. 1,
[0 1.71206987, 0. 1,
[0 . 0. ., 0.26625288]
[ 0. , 0. ., 0 1D
[[0.05096486 0. 0. 0. 1
[0. 0.58408831 0. 0. 1
[0. 0. 3. 75582793 0. 1]

array([ 2.5, -2.2, 1. 1)

#7454 2175 AT, Ax=bt A B LIE=HBEDXITDOWVWTHEWN =t D
import numpy as np

from pprint import pprint

import scipy.linalg as linalg

xdata=np. array ([1, 2, 3, 4])
ydata=np. array ([1, 3, 4, 10])

def ff(x, i):
return xxx*i

Av = np. zeros ([4, 3])
for i in range(0,3):



~

3&;& X g HEL

r‘w

for j in range(0,4):

Av[jI[i]=ff (xdatalj], i)
print\(Av)
/ [ /

c, resid, rank, sigma = linalg. Istsq(Av, ydata)
print (c, resid, rank, sigma)

(1. 1. 1.1 L
[ 1. 2. 4]
(1 3 9] ;;SL&A 1 J ik
[ 1. 4. 16.1]
[.Egg -2. L; 1 1.7999999999999958 3 [19. 62136402 1;1]206987 0;26625288]
s T T
Ai = linalg. inv(np. dot (np. transpose (Av), Av))
b = np. dot(np. transpose(Av), ydata)
np. dot (Ai, b)

array([ 2.5, -2.2, 1. 1)

?;?ﬁi@%&:%74vhbt%®

import numpy as np

z = np.array([2, 0.5, -1, 0.5 1, 1.5 -1, 1.5 4])
[-1, -1, -1, 0, 0, O, 1, 1, 1]

[-1, 0, 1, -1, 0, 1, -1, 0, 1]

X
y

for i in range(-2,3):
for j in range(-2,3):
X. append (i*0.0005)
y. append (j*0. 0005)

x = x[:9] # xDERHZFIZLEE
y = y[:9] # yOERBFILEE

print (x)
print(y)

(-1, -1, -1, 0, 0, 0, 1, 1, 1]
(-1, 0, 1, -1, 0, 1, -1, 0, 1]

%matplotlib inline

import numpy as np

import matplotlib. pyplot as plt

from mpl_toolkits.mplot3d import Axes3D

fig = plt. figure()
ax = fig. add_subplot (111, projection="3d")
ax. scatter (np. array (x), np. array (y), z)

plt. show()



from pprint import pprint
import scipy.linalg as linalg

n =z size
n_j =6
bb=np. zeros ([n])
A=np. zeros ([n, n_j1)
for i in range(0,n):
Ali, 0]=1
Ali, 11=x[i]
Ali, 2]=y[il
ALi, 3]=x[il*xy[i]
ALi, 41=x[i]*%*2
ALi, 51=y[i]**2
bb[il=2z[i]

¢, resid, rank, sigma = linalg. Istsq(A, bb)
pprint (c)

Ai = linalg. inv(np. dot (np. transpose (A),A))
b = np. dot (np. transpose (A), bb)
np. dot (Ai, b)

array ([ 1.00000000e+00, 5.00000000e-01, 5.00000000e-01, 2.00000000e+00,
1.88737914e-15, —-1.44328993e-15])
array([1. , 0.5, 0.5, 2. , 0. , 0. 1)

%matplot!lib notebook
#for jupyter notebook
# %Ymatplotlib inline # for vscode

#EA %

def z_surf(xx,yy):
val = ¢[0] + c[1]*xx + c[2]*yy
val += ¢[3]*xxxyy + c[4]*xx**2
val += ¢[b]*yy*x*2
return val

tr—4 R



np. arange (-0.001, 0.00125, 0.00025)
np. arange (-0.001, 0.00125, 0.00025)
= np. meshgrid(x1, y1)

z_surf (X, Y)

x1
y1
X,
Z1

= I

E I

fig = plt. figure()

ax = fig. add_subplot (111, projection="3d")

ax. scatter (np. array(x), np. array(y), z, color="r")

1 E DR
ax. plot_surface (X, Y, Z1)
B oblEEEBRARRINGELI DI,

plt. show()

%matplot!|ib notebook
import numpy as np
import matplotlib. pyplot as plt

#HEA %

def z_surf(xx,yy):
val = ¢[0] + c[1]*xx + c[2]*yy
val += c[3]#xxkyy + c[4]*xx**2
val += ¢[b]*yy**2
return val

T—AmExRLEO—F

np. array ([-1, -1, -1, 0, 0, 0, 1, 1, 11)

np. array([-1, 0, 1, -1, 0, 1, =1, 0, 11)

np. array([2, 0.5, -1, 0.5 1, 1.5 -1, 1.5 4])

#
X
y
z

t VS onEEERLIzO—F
X_range = np. linspace(-1, 1, 25)



y_range = np. linspace(-1, 1, 25)
X, Y = np. meshgrid(x_range, y_range)
Z = z_surf(XY)

t VS 70#EEERLIzO—F

fig = plt. figure(figsize = (8, 8))

ax = fig. add_subplot(111, projection="3d")

ax. set_xlabel ("x”, size = 16)

ax. set_ylabel ("y”, size = 16)

ax. set_zlabel ("z”, size = 16)

ax. scatter (np. array (x), np. array(y),z, color="r")
ax. plot_surface (X, Y, Z)

plt. show()

0.75 _
1.00 1.00

%matplot!lib notebook
import numpy as np
import matplotlib. pyplot as plt

def z_surf(xx,yy):
val = ¢[0] + c[1]*xx + c[2]*yy
val += ¢[3]*xxxyy + c[4]#xx**2
val += c[b]*xyy*x*x2
return val

t T—4mERLIzO—F
X = np.array([-1, -1, -1, 0, 0, 0, 1, 1, 1])



y = np.array([-1, 0, 1, -1, 0, 1, -1, 0, 1])
z = np.array([2, 0.5, -1, 0.5 1, 1.5 -1, 1.5 4])
t S onEEERLIzO—F

>

_range = np. linspace(-1, 1, 25)
y_range = np. linspace(-1, 1, 25)

X, Y = np. meshgrid(x_range, y_range)
Z = z_surf(X,Y)

#t V5 70EE&RLIza—F

fig = plt. figure(figsize = (8, 8))

ax = fig. add_subplot (111, projection="3d")

ax. set_xlabel ("x”, size = 16)

ax. set_ylabel ("y”, size = 16)

ax. set_zlabel ("z”, size = 16)

ax. scatter (np. array (x), np. array(y), z, color="r")
ax. plot_surface(X, Y, Z)

P EEOMABEAMA
#75 6L £ 75 1A (< 90 [8] &
Ixz8 TR D

ax.view_init(elev=0, azim=90)

plt. show()

1.00 0.75 0.50 0.25 0.)(()0 —0.25 —-0.50 —0.75 —1.00 ¥



Ymatplotlib inline

import numpy as np

import matplotlib.pyplot as plt

from mpl_toolkits. mplot3d import Axes3D

# V5 70EE&RLIza—F

fig = plt. figure(figsize = (8, 8))

ax = fig. add_subplot(111, projection="3d")

ax. set_xlabel ("x”, size = 16)

ax. set_ylabel ("y”, size = 16)

ax. set_zlabel ("z”, size = 16)

ax. scatter (np. array (x), np. array(y),z, color="r")
ax. plot_surface (X, Y, Z7)

P EEOMAEREA
ty zBATH-H D
ax.view_init(elev=0, azim=0)

plt. show()

-1.00 -0.75 -0.50 -0.25 0.00 0.25 050 0.75 100 ™=

%Ymatplotlib inline

import numpy as np

import matplotlib. pyplot as plt

from mpl_toolkits.mplot3d import Axes3D

fig = plt. figure(figsize = (8, 8))



ax

ax.
ax.
ax.
ax.
ax.

= fig. add_subplot (111, projection="3d")
set_xlabel ("x”, size = 16)

set_ylabel ("y”, size = 16)

set_zlabel ("z”, size = 16)

scatter (np. array (x), np. array(y),z, color="r")
plot_surface (X, Y, Z7)

P EEDMABLEAME
#7565 A 75 1R 45 Bl ¥R

ax.

view_init(elev=0, azim=45)

plt. show()

-1

—1.993.?5@.590.23’@.000.259.50 0.751.00 1.0

%Ymatplotlib inline

import numpy as np

import matplotlib. pyplot as plt

from mpl_toolkits.mplot3d import Axes3D

t V5 70#EERLIzO—F
fig = plt. figure(figsize = (8, 8))

ax

ax.
ax.
ax.
ax.
ax.

= fig. add_subplot (111, projection="3d")
set_xlabel ("x”, size = 16)

set_ylabel ("y”, size = 16)

set_zlabel ("z”, size = 16)

scatter (np. array (x), np. array(y),z, color="r")
plot_surface(X, Y, Z7)

0 0.750.50 0.250.005?.2-513.5&1}‘51.0{}



P EEOMABEAMA
#A LA A M I 135 Bl Ex

ax.view_init(elev=0, azim=135)

plt. show()

-1

1'0GO'?50'500'25)(0'00‘(}-250590.?51.DD 1.000.750.500.25 0_03;1.250.5&)}51.0[}

Ymatplotlib inline

import numpy as np

import matplotlib.pyplot as plt

from mpl_toolkits. mplot3d import Axes3D

t V5 70EE&RLIza—F

fig = plt. figure(figsize = (8, 8))

ax = fig. add_subplot (111, projection="3d")

ax. set_xlabel ("x”, size = 16)

ax. set_ylabel ("y”, size = 16)

ax. set_zlabel ("z”, size = 16)

ax. scatter (np. array (x), np. array(y),z, color="r")
ax. plot_surface(X, Y, Z)

F EERMBEANE
HNAARICOEREZESELID

ax.view_init(elev=90, azim=0)

plt. show()
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%matplotlib inline

import numpy as np

import matplotlib. pyplot as plt

from mpl_toolkits.mplot3d import Axes3D

t 95 70#EERLIzO—F
fig = plt. figure(figsize = (8, 8))

ax

ax.
ax.
ax.
ax.
ax.

= fig. add_subplot (111, projection="3d")
set_xlabel ("x”, size = 16)

set_ylabel ("y”, size = 16)

set_zlabel ("z”, size = 16)

scatter (np. array (x), np. array(y),z, color="r")
plot_surface(X, Y, Z)

#F EEOMBEAMA

ax.

view_init(elev=30, azim=70)

plt. show()



EWNAWVWALAENALRIZYD (EEDQLDIMD)
fig = plt. figure(figsize=(12,9))
for i in range(12):
plt.,subplots_adjust (wspace=0.7, hspace=0)
ax = fig. add_subplot (3,4, i+1, projection="3d")
ax. set_title("8 : {} deg”. format(360/12%i))
ax. scatter (x,y,z, color="r")
ax. plot_surface (X, Y, Z)
ax. set_xlabel ("x")
ax. set_ylabel ("y")
ax. set_zlabel ("z7)
ax. view_init(0, 360/12xi)
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